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Which of the following has the highest
temperature?

a. Cool grassland

b. Cool desert

¢. Temperate rainforest

d.  Tropical rainforest

The increase in temperature of reaction
over the optimum temperature results in
which of the following?

Active site is blocked.

Enzyme is denatured.

Enzyme activity is increased.

None of the above.

Qo oo

Which of the following is not a part of
axial skeleton?

a. Pectoral girdle
b.  Skull

c. Sternum

d. Vertebrae

In cockroach, the blood passes from
haemocoel in head to

Perineural sinus

Pericardial sinus

All of the above

Perivisceral sinus

Qo oo

The excretory system of Platyhelminthes
or flatworms has specialized cells called
Flame cells

Nephrostome

None of the above

Malpighian cells

Qo o p

Protenor bug shows which of the
following patterns of sex determination?

a. XO-XX
b.  XY-XX
c. 2Z-ZW
d. None of the above

One gene-one polypeptide is a modified
form of hypothesis.

One gene-one histone

a
b One gene-one amino acid
¢. One gene-one enzyme

4 One gene-one polymerase

The body of which of the following phyla
is covered by mantle?

Phylum Mollusca

a.
b Phylum Nemaltoda
C Phylum Annelida

d  Phylurm Arthropoda

194

10.

11.

12.

13.

14.

16.

16.

The leaflike structures of k
termed as Slps are
a. Blades
b. Stipes
c. Holdfast
d. none of the above

Tetanus is caused by

Low calcium leve]
Aerobic bacterium
Anaerobic bacterium
Virus

Qo ow

Two heavy chain of an antibody are
linked by

Peptide bonds

Glycosidic linkage

Disulfide bridges

Hydrogen bonds

ao oo

Which of the following is incorrect about
deuterostomes?

a. Mesoderm is derived from archentero
b. Blastopore forms anus during develor
c. Division is determinate.

d. Cleavage is radial.

protein proposed that

Study of
proteins are made up of amino acids. -
a. Hemoglobin
b. Histone
c. Collagen
d. Insulin

At low temperature, the fluidity of cell
membrane is altered because of
Proteins

Lipids

Carbohydrates

Cholesterol

ap oo

Descent wilth modification means

Diversity in life
Unity in life ant
Adaptation to their local environm

Adaptation is genetic

e o oow

m
The type of reasoning that moves fro

general to specific is called

a. Specific reasoning
b. Deductive reasoning
c. Induclive reasoning
d. None of lhe above




o followin@ gives rise to

h 0 etem?

(e sy®
vepetal cytoplasm of blastomere
reY ,quntof‘“ cytoplasm of blastomere
Gre vogels! cytoplasm of primitive streak
Grey

atorial cytoplasm of primitive streak

ANA polymerase l
RNA polymerase ]
RNA polymerﬂse

o o o -

or material or DNA In bacterlal
a position near to the
enter of the cell called

nucle

8 Nucleoid

b Chromatin body
. Nuclear region
¢ Allof the above

2 Which of the following Is biologically not
a fish?

a Crayfish

b Jelly fish

¢ Silver fish

¢ Allof the above

2 Which of the following neurotransmitter
Is present in peripheral nervous system?
a Adrenaline
b Acetyl choline
¢ Nor epinephrine
¢ Serotonin

& he interlocking plates of shells of
dnoflagellates are made up of

Pectin
Cellulose
Silicates
Lignin

o o o =

&
Common name for Anthoceropsida is
Liverworts
Hornworts
Whisk ferng
Mossegg

a o o =

[
Which
0ng ?1 the following is not present in
o elongation?

vV .
olume increases

p '
Iaslicny increases
Prossurg

o o =

A Increases
Yloplasm synthesis

25, Which of the following explains Darwin'a
theory?

A Descent with modification

b Natural selection

¢ Adaptation

d. Al of the above

26. |s the ultimate source of all
changes.
a. Non-random mating
b, Mutation
¢, Genaetic drift
d.  Selection

27. Which of the following plant has become
axtinct?

a Horneophylon
b.  Anthoceros

c. Polytichum

d.  Porella

28. Which of the following processes does
not occur in mitochondrial matrix?

o, Aerobic respiration

b.  Glycolysis

c.  Krab's cycle

d. Fally acid metabolism

29. The number of petals in monocots is
a. 3 or multiples of 3
b. 5 or multiples of 5
c. 4 ormultiples of 4
d.  Nona of the abova

30. In synecology we study
a.  Origin of community
b, Structure of community
¢ Composition of community
d. Al of the above

31. Deficloncy of ATP causes

a  Twilches

b, Convulsions
¢ Spasm

d  Contractures

32, Photoperiodism stimulates flowering

a Long day plants

b, Shorl day plants
¢ Day pautral plants
4 BohA and B
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33

36.

37.

39.

Mitochondria move about freely in
cytoplasm because

They are ionic in nalure

They are small in size

Cytoplasmic streaming movements occur
All of the above

aonoow

The order of transfer of energy is

a Carorenoids — Chiovovmviio — Crloropiviia
b Ciic ophiil b — Carotercids — Chloropnvii a
c Chismop™illa — Chioroviyil 3 — Car otenoids
d Corerenoids — Chiovonivii @ — Cilorsph ith

Which of the following is correct about
coccyx?
a Formed by the fusion of five anterior
vertebrae
b. Formed by the fusion of five posterior
vertebrae.
c. Formed by the fusion of four antenor
vertebrae.
d. Formed by the fusion of four posterior
vertebrae.

Which of the following wavelengths is
least absorbed by chlorophylls?

a Green
b. indigo
c. Yellow
d. All of the above

Antibodies are synthesized in

a. Spleen

b. Lymph nodes
c. Kidney

d. Liver

Diaphragm is a sheet of

a. Skeletal muscles
b. Cardiac muscles
c. Smooth muscles
d. All of the above

In mammals, has been
adapted as organ of thermoregulation.
a. Thyroid gland
b. Skin
c. Muscles
d. Blood capillaries
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40.

41.

42.

43.

a4,

45.

46.

47.

Gas molecules, water glh
. secq

easily cross the plagm

because ’ membrang
a  They are sma|| Molecylq
b.  They are neutra) :
¢ They are lipid Solublg
d BothAandB

The process of ‘

by Lsuis Pasteuﬁﬁ:tsszcziatgon EVelope,
a. Meat Fresene
b. Fruits and Vegetableg
c. Milk and Milk products
d

All of the above

In Marchantia, a typical liverwort
gemma cups function in e

Water absorption

Sexual reproduction
Asexual reproduction
Absorplion of carbon dioxide

e o oD

Wlhich‘of the following pathway is of
prime importance for both water ang
solutes?

Apoplast pathway

Symplast pathway

Vacuolar pathway

All of the above

aogow

Theory of evolution was published by

a. Linnaeus
b. Lamarck
c. Darwin
d. Mendel

What is the function of restriction
endonucleases in bacteria?
a. Cut down normal DNA
b. Restrict growth of viruses
c. Produce sticky ends in pacterial
d. Allof these

Aquatic arthropods respiré through
a. Gills
b. Book lungs
c. Skin
d BothAandB

dor
In a polluted lake, ____———

the community.
a. Protozoa
b Cyanobacteria
c. Crustaceans
d_ Insectlarvae



Vo

a
ecomm™" "
# ey fish
P|anaria

me for Actinia is

Leech
gea anemon®

o6 o ow

( trilobites lies in which of the
eo0

49 ;%owiﬂg era?
ProtErozoic era

: MesOZOiC era
’ Cenozoic era
. .
4 Palacozoic era
ites for the
mes are sites
lyosysO
5. G

preakdown of
Fatty acids to succinate
Hydrogen peroxide to oxidases and

a.

catalases
succinate to fatty acids

C.
d Botha&b

51. Translation occurs in
Cytoplasm
Mitochondria
Nucleus

SER

a0 o

52. Dorsal root ganglion contains

Cell bodies of sensory neurons
Cell bodies of motor neurons
Nerve fibers of Sensory neurons
Nerve fibers of motor neurons

a o ow

3. Amino acids are reabsorbed from
glomerular filtrate through

Proximal tubule

Descending limb of Loop of Henle
Vasa recta

Distal tubule

a e o

N,
I a transfe, RNA amino acigd attaches to

Side.
a Anli-codc-n
b 3eng of transfer RNA
g- ' end of transfer RNA

Enzyme recognition site

5, After the ap

from fige, .0 Ption of carbon dioxide
Sues, the blo .
~M of bjngy. 0d contains about
a4
54
C. 46
q 50

Brew
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56.

57.

58.

59.

60.

61.

62.

63.

Spindle fibers are synthesized in which
phase?

G,

Gy

G;

S

a o oo

A person with AB blood group has

Antigen A and antigen B on RBCs
Anti-A and anti-B bodies in the serum
Its genotype is IAi

Bolh A and B

a o oo

Fibrous proteins differ from the globular
Proteins because the.y

Are insoluble in water

Can be crystallized

Are non-elastic

All of the above

e o oo

A QRS complex in an ECG
(eleclrocardiogram) occurs just before

Atrial contraction
Ventricular contraction

Ventricles recovering from contractions
None of the above

Qo ow

To produce lactose, glucose and
galactose undergo which of the following
reactions?

a. Dehydrohalogenation

b.  Hydrogenation

€. Hydrolysis

d. Dehydration

Which of the following food chains best
support a community?

Food chain with 2-3 links

Food chain with 4-5 links

Food chain with 6-7 links

Food chain with 8-9 links

2o oo

Secretin inhibits the secretion of

Pancreatic secretions
Gastric secrstions
Hepatic secretions
Both A and B

a o oo

Which of the following is homeotherm?
Fish

Amphibians

Reptiles

Birds

a o oo



65.

68.

67.

89.

70.

71.

The three principle modes of nutrition
exclude which of the following?
Photosynthesis

Absorption

Decomposition

Ingestion

apwo

Brain damage Is caused by

a. 502

b. NO;

€. Lead compounds
d. CFC's

The optimum temperature for trypsin
enzyme Is

a. 351
b. 37.0
c. 328
d. 383

Glycylalanine Is a
a. Nuclelc acld
b. Lipld
c. Carbohydrate
d. Proteln

. What Is the ratio between the slze of

annulus and stomlum?

a 12
‘b, 2:1
c. 1.3
d 31

The surface pesticldes are removed by

a. Washing
b. Peeling
c. Bolling
d. Frying

Which of the following Is not the function
of blue rays?

a. Causes cell elongation

b. Enhances cell division

c. Retards cell enlargement

d. All of the above

Fertllization of ovum takes place In

a. Ovary
b, Falloplan tube
c. Uterus
d. Cervix

72.

73.

74,

75.

76.

77.

78.

At present, about 2,500,000
organisms are known to 8cle

IPaclag o
these organisms, pefcenlaganog;,
88cugy

plants Is about

a. 17.6%
b. 9.4%

c. 53.1%
d 18.8%

ABO locus Is present on chromogom
a. 6 ’
b. 8
c. 12
d 16

Which of the following acts ag the
Inhibltor for the enzyme succinic

dehydrogenase?
a. Malonic acld
b. Fumaric acld
c. None of the above
d. Succlnic acld

Manipulation of food and holding the
food between the teeth s the function of
which of the following?

a. Tongue

b. Cheek

c. Lips

d. All of the above

Paramyxovirus causes which of the
following diseases?
a. Herpes simplex
b. Influenza
c. Mumps
d. Small pox

The hyphae which are not divided Into
Indlvidual cells by septum are

a. Multinucleated hyphae

b. Non-septate hyphae

c. Coenocytic hyphae

d. All of the above

DNA stores blological Information In
order.

Linear

Helical

Globular

None of the above

coow®
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ch

of the following Is the largest

7 :vc';isystam on Earth?

8.
b.
c
d.

Troplcal rain forest
pesert acosystem
Ocean ecosystem
Grassland

rovides chemical energy for the

80. :ynmagm of sugar by reducing

a
b.
c.

d

H20
cOz
Chlorophyll

02

separation of homologous chromosomes

o starts during
a. Leptotene
b. Zygotene
¢. Pachytene
d. Diplotene

2. Which of the following Is a rich source of
auxins during fertilizatlon In plants?

b
c
d

Ovary
Pollen grain
Style

Ovule

83. The speed of water carrled upward by
xylem tissue In tall trees Is

ao oo

b
c
d

85,

8 ft’h
8 m/min
8 f/min
8 m/h

+ The disadvantage of cloning Is/are

Rapld aging
Resistance to environmental stress

Reslstance to diseases
All of these

Hepatitls Is caused by which of the

followlng viruses?

ao omw

88,

b.
c.
d

Hindukush Is —
terrestrig| ecosystem.

HIV

None of the above
H. virus

Hepatitis virug

type of

Conlferous forest
Tundra 8cosystem
Temperate forest
Grasslang ecosystem

.,
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87.

s,

89.

90.

81.

92.

93.

94,

Deserts are found In every continent
around

b.
c.
d

0-10 north and south latitude
20-30 north and south latitude
0-10 north and south longitude
20-30 north and south longitude

The most complex exoskeleton Is found

In

ooow®

Molluscs
Marine Bivalvia
Arthropods
Snakes

Which of the following Is false?

Plasmid DNA and viral DNA both serve as
vectors.

Only cloned bacteria or organlsms are
referred as a clone not genes/molecules.
Recombinant DNA Is formed when DNA
ligase Joins the sticky ends.

Both clened gene and protelin can be
Isclated after cloning.

Which of the following enzyme acts only
on lagging strand?

a oo

Helicase

Primase

DNA polymerase |I|
DNA ligase

Birds and mammals evolved from

b.
c.
d

Reptiles

Fish
Amphiblans
Archaeopteryx

Is the form of nitrogen that can

be utilized by plants.

b.
c.
d

Nitrate
Ammonium
Nitrite
Both A & B

The major cell Infected by HIV s

b.
c.
d

B-lymphocyte
All of the above
T-lymphocyte
Leukocytes

The major unit of ecology Is

a
b
c.
d

Community
Blosphare
Ecosystem
Food web



-~

95,

97.

98.

99.

When equal intensilies are given, there
is more photosynthesis in

Yellow
Green
Blue
Red

Qo oo

The detection of vibration in monkeys is
achieved by

a. Receplors in cerebellum

b. Receptors in cochlea in ear

c. Receptors in skin

d. Receptors in joints

Which of the following is the goal of
gerontology?

To increase life span

To decrease signs of old age
To increase health span

All of these

a0 oow

Synaptonemal complex forms in
phase.

Leptotene

Zygotene

Pachytene

Diplotene

Qo ow

Function of CSF (cerebrospinal fluid) is

a. Providing nutrition
b. Shock absorbance
c. Waste removal
d. All of the above

100. Percentage of NaCl in blood?

0.3
0.6
0.9
0.12

Q&0 oo
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ANSWERS & EXPLANATIONS

’ 1 Correct d
o0 Option
U
; ]
. n :
jplﬁ‘l"} ost has the highest temperature among all of them.
opd ralnf::re of desert is high but during day time, but during
ra
e 1empe
antit gels cold.
2 Correct b
yestion Option
jumber —
—
planation

temperalure of the reaction is increased over the optimum I
the &

( he globular structure of enzyme is lost, and enzyme

emperature, t
Lecomes denatured.

Question 3. Corlrect a
Number Option

Explanation

Both the pectoral and pelvic girdles are the part of appendicular
skeleton. However, skull, sternum and vertebrae are parts of axial

|
|
skelelon.

Question 4.
Number

Correct d
Option

|
-

Explanation

Incockroach, the blood flows from heart to aorta, to haemocoel, to
Penvisceral sinus, to perineural sinus, to perivisceral sinus, to
Pencardial sinus, and to heart through ostia.

-_

5.

Question

Correct a
Number

Option

ThE et

ending in

1Y system of flatworms consists of branching tubes
bulb-like cells, the flame cells.

Quesyyqn ST T e T
Numbe, 6. Correct a I
~—~ Option !

——

E.x.m%ﬂ

—_—

XX pat
i{
Prolep, ©M of sex determ

Mg, 49 In this pattern,
Metic Xy IS female

ination is found in grasshopper and
heterogamelic XO is male and

201

Question 7. Correct ¢
Number Optlion
_—

Explanation

Beadle and Tatum examined various mulant strains; each of the
mutant had a defect in a single enzyme, caused by a mutation at a

single site on one chromosome. Hence, they concluded with this
hypolhesis.

Question 8.
Number

Correct a
Option

Explanation

In molluscs, the body is covered by a glandular epithelial envelope
called mantle which secretes calcareous shell,

Question 9. Correct a

Number Option

Explanation

The leaflike structures of kelps are blades, stemlike are stipes and
rootlike are holdfast.

Question 10. Correct c

Number Option

Explanation

Tetanus is an acute infectious disease caused by an anaerobic
bacterium Clostridium tetani resulting in persistent painful spasms
of skeletal muscles.

Question 1. Correct c

 EXpBRStion Option

: There are 2 disulfide bonds between constant portion of 2 heavy
chains-ef-antibodies

Question 12. Correct c

Number Oplion

Explanation

The cleavage or division of the zygote is radial and indeterminate.



|

TR

[—
d
’ Question 13. Correct
Number Option
- |
n Id ance of
Ibed the complete amino ac sequ |
' e Gungers achev {o demonstrate that

Insulin. Sanger's achlevement was significant
proteins consisted of amino aclds.

Question 14, Correct b 7
Number Optlon !

1

| ,
| Explanation ;

Only Iipids maintain the fluldity of cell membrane, hence at low |
temperature, the fluldity of cell membrane s altered because liplds |

of the membrane become locked Into crystalline structures. This
affects the transport of the solutes

j Question 15. Correct b I

| Number Optlon "

‘ — —
Explanation

| Descent with modification means unity In life, with all organisms
related through descent from some common ancestor that lived In f

the remote past.

[
|
|
L
[ Question

16. Corract b
Number Option
Explanation

| Deductive reasoning moves from general to specific. It Involves
drawing speclfic conclusions from some general assumptions.

[ Question 17. Correct a
Number Option
| Explanation

|
|
f Grey vegetal cytoplasm of blastomere develops Into the gut ‘

(digestive system).

—
| Question 18. Correct d

| Number Option

| Explanation /

In prokaryotes, there are no types of RNA polymerase. The three
ifferent types of RNA polymerase are present only In eukaryotes. ’

l d
L - _— ”ff‘l

18. Correct d
Option

Question
{ Number

—

Exnlanation N
Chromatin body and nuclear region are the other
nucleold. k

Question 20. Correct
Number: Optlon

\
Explanation

All of the above do not fit In the blologists’ deflntion

—

’ .
| Question 21, Correct

Number Optlon
|

‘ Explanation
Acetyl choline Is the maln transmitter for synapses tha
peripheral nervous system. Others are mostly Involve

transmission within the brain and spinal cord.

deutlon 22, Correct b
Number Optlon
Explanation

’ The cells of dinoflagellates are covered with shalls of Ini
| cellulose plates Impregnated with sllicates.

Question 23 Correct b
Number Optlon
Explanation

The common name of Anthoceropsida Is hornworts, Hep
|8 llverworts, Muscl Is mosses and Psllopsida Is whisk fer

S A
’ Questlon 24, Correct ¢
‘ Number Option
| - o
[) Explanation

During the zone of elongation, volume Increases, plasticity

Increases, cytoplasm |s synthesized but pressure decreas:

| during the zone of elongation.

_—

[ —

Question 26. Correct d
Number Option
T
Explanation
gVB'Opad f

In the origin of species published by Darwin, he d
J main polnts Including descent with modification an
| selectlon and adaptation.

d naturd!



: Correct b
P L Option !
petio” o i
b’ T
“nlﬂ"n the ultimate source of all
B mutation 0ccUr rarely, It 18
h
A,,,.ouo
d"""" I
T ] ] \
'// - 27. Correct a l
a Jestion Option
e’ \
B hyton s the representative of the group psllopslda and
HomeoP™™ =~ L inct.
me extin
has beco
— 28. Corract b
Question Option
Number ‘

« eycle, aerobic respiration and fatty acld metabolism occurs
KT::,:Kpcf;ondﬂﬂ matrix. However, glycolysis occurs In
n

gytoplesm. ~

_ S|
- I _ S I i
Question 20. Correct a

Optlon
Number
Explanation

The number of petals In monocots s 3 petals or multiples of 3.

Question 30. Correct d
Number Optlon
Explanation

§ynecology Is the study of various aspects of community like the
origin, structure and composltion of community.

e — R
:ﬁ"buw 3. Correct d ‘
o Optlon i
D i
ujumm \
E‘ |
Muscle fayi, |
gy o e24l8 from relative deflcit of AT, When no ATP Is |
Saung 't:Omf!cwrn or states of continuous contraction result |
® 1088 bridges are unable to detach, \
e |
— @000 ]

Uegjo -

"“'“born %2, Correct a
Optlon

\

- ) ‘ |
Explanation

and Inhibits
Photoperlodism stimulates Nowering In long day plants
flowering In short day plants.

Iw-- - — - — o B

c

| Question 33. Correct

| Number Option

o —
|

| Exnlanation

ut In
The free-floating call organalles e.g. mitochondria move abo
cytoplasm due to cytoplasmic streaming movements.

|

Question 34, Correct a
Number Option
Explanation

It s generally belleved that the correct order of reaction Is

Carotenotds — Chtorophyil b = Chlorophyll a

L.

———

Question 36. Correct d
| Number Optlon
Explanation

Sacrum Is formed by the fuslon of fuslon of five anterlor vertebra

| while coceyx is formed when the four posterior vertebrae fuse wil
each other.

Question a8, Correct d
Number, Option
Explanation

The \'Navelengtha least absorbed by plants

yellow and Indigo. These wavelengths are
surface of the leaf.

include all green,
reflected from the

Question ar. Correct d
Number Optlon

—_—
Explanation

\
|
1’ Plasma proteins are synthesized In liver.

. -
' Question 38 Correct a
l Number Option

Explanation

The floor of the chest is called dlaphragm which Is a sheet .
skeletal muscles.
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Question a9 Correct b
Number Option
Exrlanation

alion and blood vessel

Sweal glands, piloerection and pilorelax
gulation, all of these occur

dilation are the steps taken for thermore ,
in skin that makes skin an adapled organ for thermoregulation

Question 40 Correct d
Number Option
Explanation

Many small gas molecules, water, glucose elc. being the neutral
particles can easily cross the plasma membrane. They are not lipid

soluble in nature

Question 41 Correct c
Number Option
Explanaton -

Hydroponic culture technique is used to test whether a certain
nutnent 1s essential for plant or not. In this technique, plants are
grown Iin aerated water to which nutrient mineral salts have been
added

Question 42 Correct c
Number Option
Explanation \

The gemma cups present in a liverwort Marchantia function in
asexual reproduction

Question 43 Correct a
Number Option i
Explanation

Apoplast pathway 1s of greatest importance for both water and
solute transport. The symplast pathway is less important and
movement through vacuolar pathway is negligible.

Correct b
Option

Question
Number

Explanation
Lamarck (1744-1829) published his theory of evolution.

Queston 45 Correct b
Number Option
Explanation

Restriction enzyme culs viral DNA but does nol harm bactenal
chromosomes, hence It restricls the growth of viruses but has no
efiect on the bactenal DNA
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Quesltion 46 Carrect d -
Number Oplion
Explanation

The aqualic arthropods respire through gills ang book |
Ungs

Queslion 47 Correct b
Number Option
Explanation

Producers like cyanobacteria (blue-green algae) form 3 scum
the lake surface, they dominate the community and as g ’Bsu“m
plant and animal community die. v

Question 48. Correct d
Number Option
Explanation

The common name for Actinia is sea anemone. It belongs to the
phylum Cnidaria.

Question 49. Correct d
Number Option
Explanation

Age of trilobites was present about 400 M years ago in the
Palaeozoic era. The trilobites evolved to give the modern-day
invertebrates.

Question 50. Correct a
Numher Option
Explanation

In seeds rich in lipids, glyoxysomes are sites for the breakdown of
fatty acids lo succinale.

Correct a
Option

Question 51
Number

Explanation

Cyloplasm is the sile for translation and nucleus is the site for
transcription to occur

Question 52 Correct a
Number Option
Explanation

Dorsal rool ganglion is a cluster of neurons in a dorsal root of
spinal nerve Il conlains cell bodies of sensory neurons.



Correct
Option

ion
of glucose, amino acids and salls oceurs only in
ton Of .
J‘fwle of the functional unit of kidney, nephron
tu

io0
RNA molecules transport the amino acids 1o ribosomes
'Q polypeptides. Amino acid attaches at 3'

ydroxyl OH
znsfer RNA
55. Correct b
Option
—_—
tion

nzl blood has S0 ml of carbon dioxide, afier it

pPasses from
. tconsists of 54 ml of blood.

56 Correct c
Option
i2se, energy storage for chromosome movements,

s of mitosis specific proteins, RNA and spindle fibers takes

n 57. Correct a

Option
- -
ation

" with AB blood type has both the antigen A and antigen B

S, bt there are no anti-A and anti-B antibodies in the
s blood

Correct a
Option

tion

S are INsoluble in

) Nature However, g
%y are cry

proy .
on waler. They are non-crystalline
SUC in

lobular proteins are soluble in
Stalline ang non-elastic in nature.
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Question 59 Correct b
Number Option
Explanation

The QRS complex in an electrocardiogram accurs just before
venlricular conlraclion

Question
Number

60 Correct d

Option

Explanation

When glucose and 9alactose react, a water molecule is released
and a glycosidic bond is formed between them This type of
reaction falls under the category of dehydration reactions

Question 61 Correct a
Number Option
Explanation

A shorter food chain of two or three lin
more efficiently than a long chain of fi

original energy from the producers w
at higher trophic levels.

ks supports a community
ve links where much of the
ould reach those organisms

Question 62. Correct b
Number Option
Explanation

Hepatic and Pancreatic secretio

ns are stimulated by secretin
However, secrelin inhibits gastri

C secretions.

Question
Number

63 Correct d

Option

Explanation

Homeotherms are animals that maintain their body temperature
regardless of any change in the surroun

and mammals can maintain their bod
are termed as homeotherms

ding temperature Birds
Y temperature. hence they

Question 64 Correct c
Number Option
Explanation

The three principle modes of nutrition are

pholosynlhesm,
absorption and ingestion



|

L

-
c
Question 66. Correct

Explanation

Lead compounds and
pollutants result In braln damage.

Option |l
;

Carbon monoxide present In alr 88 ‘
|

|

- |

Question 66 Correct b
Number Option

\
Explanation .j

The optimum temperature for all body enzymes Is 37.0-degree |
\

Celslus.

Fuesﬂon 67. Correct
~ Number Option |

Explanation ' .
Glycylalanine is a prbtein that is formed when a peptide bond is ‘
formed between two amino acids. It is a dipeptide. |

_
|

Question 68. Correct |
Number Option 1
Explanation J
The annulus occupies three forth of the edge of capsule and
remaining one forth is the stomium. ‘

]
Question 69. Correct ’
Number Option b
Explanation

Pesticides are inevitably poisonous to kill pests and are suspected
for causing cancer and other disorders, so they should be
removed before eating. Peeling apples and potatoes removes

most of the surface pesticides. ‘

Question 70. Correct a '
Number Option ’

E
Explanation !

Light plays an important role in the growth of plants. Red light
favors elongation of cells and blue light enhances cell division but

retards cell enlargement.
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Question 71. Correct
‘ Number Option b
" Explanatlon

} The fertilization of the ovum takes place |n Proximal

| falloplan tube/ oviduct, Part of

Question 72. Correct a
Number Optlon
Explanation

Of all these organisms currently known to scienca, 53.1% 3
insects, 19.9% are animals other than insects, 17.8% ag -
plants and 9.4% are fungi, algae, protozoa, and various :
prokaryotes.

-
1‘ Question 73. Correct b
Number Option
Explanation

The ABO blood group system is encoded by a single polymor
gene | present on chromosome 9. It has three multiple alleles

| andi.
Question 74. Correct a
Number Option

| Explanation

Malonic acid has a similar structure as succinic acid. Hence,
as a competitive inhibitor for the enzyme succinic dehydrogen
| and blocks the active site as no product is formed.

Question 75. Correct d
Number Option
Explanation

All lips, cheeks and tongue play the role of manipulation of foe

and holding them between the teeth.

| Question 76. Correct
; Number Option
Explanation

. ruses
Mumps and measles viruses belong to group paramyxov!



77. Correct d | Queslion 83, Correct d
n Option | Number Option
uglﬂo - | P T,
N'J'“D'r . -
‘ Explanation
vided Into cells by septum are non- ' Intall trees, large qua of watar ara carried at ralativaly high
re not d +large quantities
oha® that 8 of a large multinucleated body. They are also 8peed, up to 8 m/h.
Th’nzt); ot cof")';l‘c hyphae because cyloplasm moves effectively - o
soP coenoc —_— - S —_—
Is. —
i o materia ‘
::'lribu"“g . ] | Question 84, Corract d
— - | Number Option
— ]|
/// 78. Correct a
Queston Option Explanation
yumbe’ | The organisms produced as a result of cloning are susceptible to
| environmental stress and diseases. Clones also age rapidly.
orts of biological Information coded In the — I
pNA stores ai:I sbases in a linear order, and genes are actually ——— T
ofits
SBQUBTSNA comprising its base sequences. Question 85, Correct c
parts © i | Number Option
— — |
— 79. Correct c | Explanation
quastion Option
Number

\

| Hepatitis is caused by H. virus which is spread through blood
| transfusion, by using contaminated sy

\

ringes and surgical
instruments.
mﬂnﬂjﬂ:h is covered with water, the rest 29% is covered by all |
71%°fEi1-a| ecosystems including tropical rain forest, desert and —
m;:g:’ which makes ocean ecosystem the largest one. | Question 86. Correct b
g ! Number Option
|
—_— . |
Question 80. Correct b ! i Exnlnnannn
Nurbar Option \ ’ In Pakistan Tundra ecosystem is located at high altitudes across
‘1 ‘ the mountain above timberline such as mountains of Hindukush
| | and Kara-koram.
Explanation [
The ATP produced during light reactions provides chemical energy | L - .
for the synthesis of sugar by reducing CO,_ i I S R
| Question 87. Comect b
— i Number Option
Question 81. Correct d | ‘
Number Option || Explanation
[ | Around 20-30 north and south latitude of every continent and also
Explanation ||

in the rain shadows of major mountain ranges, there exist deserts.
Homologous chromosomes start separating from each other
during diplotene, however, the s

completed during diakinesis.

|
. . . . 1 . - -
eparation is incomplete. It is \

polle in i . . exoskeleton.

Simylaqgg the N grain is a rich source of auxins as well as it ‘
. € lissues of

Auring, Thig au the st

Xin is necessa

\ Question 88 Correct c
‘ Number Option
— @ 0 I
— 1 -
Quest 1 ‘
Numb:{n 82. Correct b ‘ \ Qplillﬂl!m
Option [ The most complex exoskeleton is found in arthropods. Their
T I | exoskeleton has made a variety of adaptalions according to the
Qmﬂ‘m&ﬂ ‘ 1 environment that allow them to live and grow within their
GErTninating ‘ \

yle and ovary to produce more L B - —
ry for fruit set. {
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89 Correct b
Number Option
Explanation
A clone can either be a cell. molecule, gene or a complete
0'93"1‘5'1'1
Queston 20 Correct d
Number Option
Explanation

DNA Iigase s used only in lagging strand where it joins the
Okazak fragments. However. all the other enzymes can act on
either strand

Quesbon
Number

Explanation

Birds and mammals evolved from Archaeopteryx, that existed in
Palaeozoic era. This means that Archaeopteryx were the
&ncestors of birds as well as mammals.

Question

Correct d
Number Option
Explanation

Plants can utilze both nitrates and ammonium. Although plants
can vtlize a2mmonium directly, but nitrate is the form in which most
nirogen moves from the soil into the roots.

Queston
Number

I ion

The major cell infected by HIV is the helper T-lymphocyte

Question 94 Correct c
Number Option
Explanation

The mzjor unit of ecology is ecosystem. Organisms interact with
their environment within the confines of the ecosystem
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Question 95 Co
T
Number Bt
Oplion 4

Explanation
When equal intensitieg are given, there 1S mg

r
red than in blue par of speclrum becaysg 1.%:a 103yngh,
accessory pigments in blue par which are ng E':als .
fransferred to chlorophyll 3 for use in DhO‘OSynth ecuvely

esig

Question
Number

96

Explanation

The detection of vibrations
achieved by receptars in th

Question
Number

97

Explanation

The present goal of gerontology is not necessanly the

Correct
Option

of ground
€ joints.

Correct
Option

life span but to increase in health span of Iffe.

Question 98
Number
Explanation

Correct
Option

by terrestrig) Verteprg,,

incre;

During zygotene, synaptonemal complex (painng of homalc
chromosomes) is formed and Synapsis begins. The synapic

complex is highly specific.

Question
Number

99

Explanation

Correct
Option

CSF has same composition as blood plasma, so functons
nutrition provider, waste remover and shock absorber It ba

< sl th
neurons of brain and spinal cord and it cushions against \n

bumps and jolts

Question
Number

100

Explapation

Cormrect
Option

| blood
Percentage of NaCl in blood is one third of the tola

which is 0 3% of 1%
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the following is nota
’ WICht ent of soil?
Soll water
Soil air
Soil organisms
None of these

S o T w

h of the following is not a type of

whio productlon?

ESBXUSI re
porulahon

parthenogenesis

Apomixis

None of these

a0 o w

3 Hensen's node is formed at

caudal end of primitive streak
Cephalic end of primitive streak
Caudal end of notochord

Cephalic end of notochord

8 0o oW

4 The rate of photosynthesis may equal to
one another at what time?
a. Dawn c. Dusk
b. Noon d botha&b
5. Germinal epithelium of male reproductiva
system is present in
Seminiferous tubules
Vas deferens
Epididymis
Urinogenital duct

& o o w

5 Microtubules are made up of

Tubulin protein
Actin protein

Tubulin + RNA
Tubulin + DNA

a o oo

]

DU”"Q €Mmphysema, there is
Decreased Surface area
Larger alveol;

lncreased volume

Al of the aboye

a o o

Circulatg
h; Iy system is
ho fthe € following? present in

Anhropods
Anneligs
MO"USCS

Prc:,tC)cho,.dateS

i
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9.

a.

A cllium conslsts of fibrils.
20 cC. 9
18 d 3

b,

10. Which of the following is not an organic

1.

compound?

a. Metabalites

b. Hormones

c. Proteins

d. Water
Which of the following is not a secretion
of bile?

a. Amylase

b.  Trypsin

c. Lipase

d. Sucrase

12. The cell division at root and shoot apices
occurs in cells that lack

oo go

Mitochondria
Vacuoles
Chloroplasts
Leucoplasts

13. Ptyalin is a carbohydrate-digesting
enzyme that breaks starch and glycogen

into

a0 oo

Lactose
Glucose
Maltose
Fructose

14. Which of the following is not true about
plasmids?

15.

8o o w

They are extra-chromosomal DNA

They carry genes for fertility

They carry genes for anti-biotic resistance
None of the above

In case of less water in body, which of
the following occur?

Qo oW

More ADH 1s released from pituitary glanc
Less ADH is released from pituitary gland
More ADH is produced by adrenal gland.
Less ADH is produced by adrenal gland.




16. In lsobilateral leaves, the stomata are
prosont In
a.  Only upper epidermis
b. Only lower epidermis
¢ Both in upper and lower epidermis
d  None of the epldermis

17. According to endosymbiont hypothesis,
flagella may have arisen by the ingestion
of __ bacteria.

a  Spirochetes

b.  Bacillus with flagella

¢ Vibrio

d.  Cocci

18. Genes of a linkage group
a. Assort independently
Increase the chances of genetic
recombination
c. Causes variation among offspring
d  Can be separated by crossing over

19. Which of the following diseases is not
caused by a virus?
a. Pneumonia
b.  Small pox
c. Influenza
d.  Hepatitis

20. acts as magnetic forms that
promotes and guides the coiling of DNA.

a. RNA

b. Phosphate group
c. Histone cores

d. None of these

21. neurons branch profusely
giving cell a tree like appearance.
a. Motor neurons
b. Sensory neurons
c. Associated neurons
d. Neuroglial cells

22. Which of the following has more number
of chlorophyll a, chlorophyll b and
carotenoids molecules?

a. Anienna complex

b. Reaction center

c. Electron transport chain
d. None of the above
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23.

25.

26.

27.

28.

29.

30.

L.y

Strobilli are present in

a.  Sphenopsida
b. Psilopsida

c.  Lycopsida

d.  Prteropsida

H in i i
a Red
b, Purple
c. White
d. Blue

Capspmeres which are the Subunitg
capsid are made up of .
Vitamins

Proteins

Carbohydrates

Lipids

a0 oo

helps cockroach in flight.
Anterior pair of wings
Posterior pair of wings
Middle leg
Both A and B

Qo oo

The deficiency of which of the following
causes chlorosis?

a. Nitrogen

b. Potassium

c. Magnesium
d. BothAandC

Which of the following is an example of
red algae?

a. Chiorella

b. Polysiphonia

c. Chlamydomonas
d. Trichonympha

Food digestion occurs in all of the
following parts of human digestive

system except
a. Stomach
b. Large intestine
c. Small intestine
d.  Oral cavity

Stone cancer occurs in

Stone
Lungs
Skin

Blood

Qo oew



=

ing over 36. Which of the following is true about
a«osslﬂg
r metes have recombinant genes. Sickle cell anemia?
a ‘
a N: gameles have parental combination of 8. Adenine changes with thymina resulting in
b. A nges glutamic acid to valine
Heal'f have parental and half have b

Thymine changes with adenine resulting in
reco;-nbil‘lal'\l genes.

glutamic acid to valine.
tio of recombinant and parental
Rato

c. Adenine changes with thymine resulting in
d combination 1S 1:2. valine to glutamic acid. .
d.  Thymine changes with adenine resulting in
nallest pacteria Mycoplasma is of valine to glutamic acid.
s
the SiZ€ .
4-10 nm 37. Evolutionary relationship among species
. 10-100nm are reflected in their
& 200-300 nmM a. DNA and proteins
" 4100-200 nmM b. Only DNA
c. Only proteins
- cell commits suicide because of the d. RNA
) absence of
. Survival signals . 38. The size of parvoviruses is
p. Trophic factors a. 10nm
c. Kiling signals b. 20nm
¢ BothAandB c. 150 nm
d. 250 nm
y is the raw material in
= — .
natural cycle for making food. 39. Oncoviruses are retroviruses which are
2 CO; a. Single stranded
b. COz+02 b. Double stranded
¢ COz*N; c. None of the above
d 02 d. Both single and double stranded at different
stages of life
5. What is the correct order of evolution of
ssedihabst? . 40. Ammonia is the excretory product of
1. Evolution of heterospory animals.
2 Development of protective layers around a. Marine
megasporangium
3. Modification of distal end of b.  Freshwater
megasporangium for pollen capture c. M_a"'"‘a's
4 Retention and germination of megaspore d. Birds
within megasporangium .
3. Reduction to a single functional , X
megaspore per sporangium 41. Which of the following STD affects CNS,
€. Development of embryo sac within the reproductive organs, heart and skin?
sporangium a. Gonorthea
21,3425 b. Sypl.ulls
b 6,413 25 c. Genital herpes
¢ 1,4,2,56 3 d. AIDS
4 136,452

42. Which of the following is directly
proportional to the oxygen carrying

capacity of blood?
a. pH
b. Carbon dioxide
c. Temperature
d. Allof the above
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43.

44,

45,

¢4}

46.

47.

48.

49.

50.

The volume of phage Is abqgt
1/1000 times the host

a,
b. 1/10 times the host

c. 1/100 times the host

d.  1/10,000 times the host

Glandular tissue performs which of the
following function?

Secretion

Conduction

Contraction

Translocation

Qo oo

Which of the following is false?
a. Nitrogen is present in proteins
b. Magnesium is present in chlorophyll
c. Calcium is present in cytochromes
d. Phosphorus is present in ATP

Planaria and hydra have which the
following in common?

Both are Cnidarian.

Food is digested in the intestine.
Both have sac-like digestive system.
All of the above

a0 oop

Change is pH causes changes in
lonization of amino acids at active site.
Bonds in enzymes.

lonization of substrates.

All of the above.

8o oo

Parietal cells of the gastric gland secrete

a.  Mucous

b.  Hydrochloric acid
c. Pepsinogen

d. All of the above

Auxins are involved in

Phototropism
Negative gravitropism
Positive gravitropism
All of the above

& o oo

Photorespiration reduces the amount of
carbon fixed into carbohydrates by

a 15%
b. 25%
c. 45%
d.
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51. Acylglycerols are formed b the rg

52.

53.

54.

55.

56.

57.

Y
of glycerol (alcohol) and fatty acm,,,acT”;I

fall under the category of
Ether

Ketone

Aldehyde

Ester

8 o oo

. Nerves are connecteqy to the
brain.

12

24

31

62

a oo

Myoglobin is present in of
skeletal muscle fiber. ~
Sarcoplasmic reticulum

Nucleus

Sarcolemma

Sarcoplasm

a0 oo

is the form of nitrogen that can
be utilized by plants.
Nitrate
Ammonium
Nitrite
Both A & B

Qo oo

Which of the following is not true about
law of segregation?
a. Alleles segregate during meiosis.
b.  Each gamete receives only one allele.
c. Alleles unite during specific fertilizatior
d. Allare true.

How many chromosomes are present in
garden pea?

8

46

14

26

Qo ow

What is gene pharming?
a.  Production of pharmaceuticals.
b.  Production of pharmaceuticals from ani
c. Production of pharmaceuticals from far
animals.
d.  Production of pharmaceuticals from pla



V

s

ol ecn.c,phoresls. the gel used

|
Agar ge
Agarose gB'
pextran
Toluene ge!

a o 9T o

anzymes |nvo1vte|: In the synthesis of
5. Th;elns are presen
pr chloroplasls
: Mnochondrla
c.- Nudeolus
4 Ribosomes

e of plants sporophyte Is
. 0 xgllg:etl);pdapendent on gametophyte?
0
Bryophytes
sparmatophytes
Angiosperms
Gymnosperms

oo oD

gf. The color of blle lg

g Red
b. Blue
¢. Yellow
d. Green

§2. Between which two carbon atoms Is the
double bond In Olelc acld Is present?
g 4and5
b 7end8
¢ 8and10
d 13and 14

82, type of nervous system lg
present in Jelly figh,

8 Diffused nervous system

b Centralized nervous system
¢ Both
4 None

 Ret (rogent) (g

Plantigrage
Digitigrade
Unguligrade

Nene of the above

a o o™

i, h
]
. o0 of locometian In Foraminifera

Flagelig

Peeudopogig
Cliig

Nong

a o o ®

68.

87,

68,

89.

70.

.

72,

Which of the following structures Is not
found In al bacteria?

a.  Plasmid

b.  Capsule

¢ Cell membrane

d.  Cell wall

What Is thg sequence of vertebrate
evolution?

8. Fish, amphibians, reptiles, birds, mammals
b.  Fish, amphiblans, reptiles, mammals, birds
C. Fish, reptiles, amphibians, birds, mammals
d,

Fish, reptiles, amphibians, mammals, birds

In cockroach, the blood passes from
haemocoel In head to

8. Perineural sinug

b Pericardial 8sinus
C.  Perlvisceral sinus
d. Al of the above
Lamarck's theory Is not accepted
because
8.  Mechanlsm to explain evolution wasn't
enough,
b.  Parts of body that are used extensively
become larger and stronger.
¢ Parts of body that are not used deteriorate.
d.

Inheritance of acquired characters.

Which of the following Induces

ovulation?
a. FSH
b LH
¢ Estrogen
d.  Progesterone

The change of a reducing atmosphere to

oxidlzing atmosphere means |ife can no
longer arise

a. Biolically

b. Ablolically

¢.  Pholosynthetically
d.  None of the above

Studles have revealed that the

nitrogenous compounds present in
honey dew are

a 1%

b.  10-26%
c. 50%

d. B80%



73. Which of the following gives rise to CNS

in chick?
a. Ectoderm
b. Endoderm
c. Mesoderm
d. All of the above

74. Cactus has water stored in

tissue.
a  Sclerenchyma
b. Collenchyma
c. Parenchyma
d. Vascular cambium

75. To bend the amm at elbow joint, which of
the following occurs?

a0 ow

Biceps contract, triceps relax

Biceps relax, triceps contract

Brachialis contracts, brachioradialus relaxes
Brachialis relaxes, brachioradialus contracts

76. The following reaction occurs in

2 glycine — serine + CO,

Ao opw

Cytoplasm

Stroma

Thylakoid membrane
Mitochondria

77. All or none response is based upon

All muscle fibers participate in contraction.

a
b. Al myofilament contract together.
c. All myofibril contract together.
d. The whole muscle bundle participates in
contraction.
78. is a major constituent of birth
control pill.
a FSH
b. LH
c. Estrogen
d. Progesterone

9. Which of the following is false about
hepaticopsida?

a

b.
c.
d

Their common name is liverworts.
Porella is a liverwort.

The plant body is gametophyte.
Gamelophyte is dependent on sporophyte.
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80.

81.

82.

83.

85.

86.

i
Hydroponic culture technique g useq
to
a. Check the composition of the sg;|
I
b. Grow plants with high yieldsg
c. Test whether a certain nutrient

for plant
d BothAandC

18 63sq

Which of the following i

grey crescent’? ity about
Pigmented

Pigment free

Necessary for development

All of the above

ao oo

Phytoplankton does not include
Protista

Small plants

Bacteria

Algae

& o oo

On an average, how many thylakoids
pile up to form granum?

a. 20
b. 30
c. 40
d 50

Which of the following is not correct
according to Lock and Key model?

a. A specific enzyme can transform a spec

substrate.
There can be modification in active site.

. Active site is rigid.
d. Active site acts as a template during or

reaction.

Which of the following is the shortest
phase?

a. Gap 1 phase

b. Synthesis phase

c. Pre-mitotic phase

d. Mitotic phase

Which of the following structures is not a
part of flower

a. Pedicel

b. Frond

c. Thalamus

d. Floral leaves



water and salts are

My

\ntestne s
ﬂriup@man tubule
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aidgHt
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8

e 0 v

s like ebony store their waste
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:‘s,eﬁal in

0\d xylem
phioem
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P oo

inting, result is
ring DNA fingerprin i

2:;:? ed in the form bands in

Autoradiograph

Projectional radiograph

Panoramic radiograph

Tomograph

(=S =

¥ Rootnodules in legume plants is formed
by

Algae

Fungus

Bacteria

Lichen

Ao R

2 The chemical substances that inhibit
gowth of micro organisms on i

ving
are

Disinfectants

Antisepticg

None of the above
Chemotherapeuti@

A o o p

Q
p F .
e;?;:f"m d€netics emphasizes
Ve genetic Variation within
;)Dulahon

and nNize the importance
characters.

~

\\
A‘CQLIired
Q“a"taﬁve
Qua"maﬁVe
%18 of the above

a o o
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Which of the following should be used if
large amount of gene is required?

a  ELISA

b. PCR

C.  Genetic engineering
d.

Tissue culture

95. Central dogma is

3. Only transcription

b. DNA replication + transcription
€. Transcription + translation

d

DNA replication + transcription + translation

96. Which of the following causes African
sleeping sickness?

a.  Euglena
b.  Trypanosoma
C. Paramecium
d.  Entamoeba histolytica
97.  Which of the following cannot be
removed by sewage treatment?
a.  Phosphorus
b.  Aluminum
C. Lead
d.  Copper

98. The €NZyme succinic dehydrogenase
converts succinic acid into

a. Fumaric acid
b. Lactic acid

C. Butaric acid
d. BothBandC

99. Cancers can be treated by which of the

following techniques?
a.  Radiotherapy
b. Chemotherapy
c. Gene therapy
d. botha&hb

100. Inert nitrogen pool contains
a.  Ammonia and ammonium ions

b. N,

¢. Nz and ammonium

d. Nz and ammonia



ANSWERS & EXPLANATIONS

Queston d

| Question 1 Corract
Number Option

| —— e s c— - I T I
Explanation

Soll can be defined as the upper layer of Earth's crusl. Tho basic
er, soll alr and

constituents of soll are soll particles, soll wat
inorganic matter and soil organisms.

Question 2 Correct d
Number Optlion
Explanation

Sporulaticn, parthenogenesis and apomixls, all are types of

asexual reproduction.

Question 3 Correct b
Number Oplion
Explanation

Al the cephalic end of primitiva sireak, closely packed cells ferm a
local thickening known as Hensaen's node.

Question 4 Corroct d
Number Optlion
Explanation

The rale of pholosynthesls may, for a short time, equal one

anolher al dawn and dusk when the light Intensity Is low, At such

lime there Is no net exchange of gases with the envirenment, this |
|6 termed as compensation polint.

Queslion 5 Correcl a
Number Oplion
Explanstion

In male reproductive system, seminiferous tubules contaln
germinal epithellum thal produces spermatogonia by repeated
divisions of celle of germinal epithellum,

Quoslion 7 Correct
Numbor Option
Explanation

In pationts with omphysoma, alvaolar walls degenerat
alveoll combine to form larger alveoll. As a result, ther
incroasod volumo and docroased surface area of alyg

Quostion 8 Corract t
Numbeor Option
Explanation

Annelids have closed clrculatory system while arthropo
molluscs, and protoechordates have an open circulatary

Quoslion 9 Corract a
Numbor Option
Explanation

9 peripheral double fibrils + 2 contral fibrlls

= 18 fibrils + 2 fibrils

= 20 fibrils

Quostion 10 Corroct d
Numbor Optlon
Explanation

Watar Is the only Inerganic cempeund. Proteins, carbehy
and lipids aro the organic compounds,

Question " Correcl d
Number Oplien
Explanation

Amylase, trypsin and lipase are secretions of pancreas. h
sucrase Is a secrotion of small intestine,

e Quostion 12 Correcl b
Question Correct ¢ © Numbor Optlon
Number Option |
i Exnlanation
Explanation The cell division at tho roots and shoots oceurs In small ¢

having sphorical nuclol prosent In tho contor of cytoplasm,

Micro tubules are made up of tubulin protain and traces of RNA,
non-vacuolated,
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|gesting enzyme present in sallva, It
rate-d'g

YE cogen to maltose:
y
n,lr smmh i ———

T Correct d
Optlon

chromosomal clrcular DNA molecules
ral axu:l;lolic resistance and fertllity etc. Hence,

n@
8™ anes iorbl!f:’l the characteristics of plasmids.
0 B 0
l‘“’ﬂm”g aré true 8 I
v T
— :/*' o
T 5 Correct b
Option
qas" N
A
1er in body, It needs to be saved and should not

spere s Issll :Iagh amounts. For this purpose, ADH acts on

ullﬂ’led n lo reabsorb water.

wiecing twpules

e

18 Correct c

Question Option

Numoer _ —e
—_—

prplanation

~icointoral (eaves, the stomata are present In both upper and lower
iwsemis 0.9, llly and malze leaf.

Qutilion 17 Corract a
bt Optien
xplangtion

“2réing to endosymblont hypothesls, spirechates engulfed by
¥ bacterla that ware not digested, rather were stabilized inside
¢l tonulied In the formation of flagella that helped the cell in

“molion,
Atlon -
18
r Correct d
- Option
[ I T "\‘—"ﬁ:_""r’ T —— ———
" o
fo'nolom': ;ro Present on different locl on the same
it g, 8y are separated b

y croseing over In which

tween non-slster chromalids,

gy lolch Bnge of 8egments pg
lon of linked genes,

© 8eparg|
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B

|

| ExRlanation

| colling of CINA,

Question

19 Correct a
Number

Option

Explanation N

All of the above diseases are caused by viruses except
Pneumonia which is a beicterlal disease.

Question

20 Correct c
Number

Optlon

Hislone cores are positively charged and are strongly attracted to
negativaly charged phosphate groups of the DNA. The histone
cores thus act as magnetic forms that promote and gulde the

Question 21 Corract c
Numtyer Option
Exrlanation

The dendrites of certain brain cells branch profusely, giving cell a

treelike appearance. The neurons present In the brain are
8ssoclated neurons,

| Question 22 Corract a
Number Optlon
Explanation

- The light gathering 'antenna complex' has more number of
chlorophyll a, chlerophyll b and carotenolds molecules.

__444

i Question 23 Correct c
Number Option
| Explanation

In lycopedium, the 8porophylla ara clustered at the tips of
branches Inte club-shaped structures callad strobilll.

e e e ey e ——— e e v e o e

l

| Questlon 24 Correct d

; Number Option

| - e
Explanation

In phylum Mollusca, a resplratory pigment of blue coalor,

called
haemocyanin (s present,



b
Question 25 Correct
Number Option
Explanation
{ make up the capsid.

Capsomeres are protain subunils tha

\‘ Question 26 Correct b
‘| Number Option
Explanation

Out of two pairs, posterior pair helps cockroach In flight. These
beat in air in such a manner that they suppo

drive it through the air.

r the body weight and

|

FQuesﬁon 27 Correct d .
‘ Number Option I
F ’
| Explanation

\
The deficiency of both nitrogen and magnesium cause chlorosis,
however the deficiency of nitrogen causes strong chlorosis.

f

|

\

\

| -
Question 28 Correct b
Number Option

| Explanation

) Polysiphonia is a representative red alga with worldwide

| distribution. J

J[ Question 29 Correct b
Number Option
Explanation

There is no digestion in large intestine. Here, only salts and water

are absorbed into the blood stream.

|

Question 30 Correct a
Number Option
Explanation

Stone monuments like Taj Mahal are belng eroded due to stone

cancer caused by acld rains.

|
|
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|
| Queslion 31 Correct "
Number Option
_ - -
Explanation

After crossing over, segments of non-sister chromatidg an

exchanged and out of four gametes formed, two haye nd
|

genes while the remaining two have recombinant geneg

| -
Question 32 Correct P
Number Option

| Explanation

J] The diameter of some members of Mycoplasmas varies frc

" 200 nm.

I o

' Question 33 Ccrrect d
Number Option
Explanation

|

| .
| cell commits suicide in the absence of survival signals (trog
factors) or killing factors. If killing factors are present, cells z

murdered by other cells.

Question 34 Correct c
Number Option

For making food and other substances required by living syster
Carbon dioxide and Nitrogen are required; CO, for making gluc

and N, for amino acids.

|
l’vﬁp_lmﬁlsm
|
|
|

Question 35 Correct c
Number Option
Explanation

The correct steps of evolution are 1, 4, 2, 5, 6, 3.

.( Question 36 Correct b
i Number Option
| Explanation

In Sickle cell anemia, critical change replaces thymine with
adenine at the position that codes for glutamic acid convertin

|

|

J

l position to valine.
l



Correct a

/ 37 Option
ﬂop //"————‘—_-7>
g -
- |
/ oig species are reflected In their DNA |
in am

;aliO“Sh'p < and gene products. If the sequences |
ianﬂry I'em meir ene

i 5 s and proteins of two species r:atch clo‘saly, i
Al
E“dpmlal < 1 gene 0 been copied from a common ancestor. |
4 m‘,nomaca musl hae
of e I — —
ced _
e il —
Correct b
38 Option
ol |
o P
'nrff - —
N o }
ﬂ‘dlnlmfu ovirus is 20 - ‘
«iz8 0 S )
g o ,39 Correct a
ouesﬁon Option
!
/

le stranded RNA tumour viruses and are

in
cOVITUSES are sing t 100 nm in diameter and enveloped by host

in form 8boU
mbrane.
psme M
— 40 Correct b
Question Option
et
Eglanation

freshwater is hypotonic is nature and 1g of ammonia requires
sooml of water for its removal. Hence, in freshwater animals, the
acretion of excretory products as well as water takes place
smuttaneously.

Question 41 Correct b
Number Option
Explanation

Syohiis is caused by Treponema pallidum. It damages the

eproductive organs, eyes bones joints, central nervous system,

hearl and skin,
— 4
mﬂ 42 Correct a
Option
\

.
Catton g
Teas pH ?: dTnd temperature are inversely proportional
I .
e biggy eclly proportional to the oxygen carrying capacity
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Question 43 Correct a
Number Option

| ———— R

| Explanation

| The volume of the phage is about 1/1000 times the host cell

Question A4 Corract a
Number Option

P

| Explanation

Glandular tissye

is present in animals where they secrete of
| hormones and of

her secretions.

| Question 45 Correct c
Number Option
Explanation

Question 46 Correct c
Number Option
Explanation

Both hydra and planaria have a single opening to the outside
called mouth. This is a common opening for ingestion and

egestion. Such a digestive syslem is called sac-like digestive
system.

Question 47
Number

Explanation

A slight change in pH can change the ionization of the amino acids
present at the active site. Moreaver, it may affect the ionization of
" the substrates. Under these conditions, enzyme activity is either

retarded or completely blocked. Extreme changes can cause the
bonds in enzymes to break.

Question 48 Correct b
Number Option
Explanation

Parielal or oxyntic cells of gastric glands secrete hydrochloric acid,
mucous cells secrete mucous, and zymogen cells sacrete

pepsinogen.

L




Question 40 Correct d
Number Option
|

Exrlanation |
Auxins cause unequal cell enlargement which causes bending In g
different directions and all phototroplsm, negative gravitroplsm an
positive gravitroplsm are related to the bending of plants.

Question 50 Correct b .
Number Option
Exprlanation

In most plants, photorespiration reduces the amount of carbon
fixed Into carbohydrates by 25%.

Question 51 Correct d !
Number Optlon
Explanation

As a result of reaction between glycerol and falty acids, water
molecules are released, and an ester |s formed. Hence,
acyiglycerols are esters in nature.

'
| I B S

Question 52 Correct b
Number Optlon |
Explanation |
12 pairs of cranial nerves arise from the brain or lead to the brain.
Some of these nerves are sensory, some motor, and some are i
mixed. }
Question 83 Correct d
Number Optien
Explanation [
Sarcoplasm of the muscle fiber Is similar to the oytoplasm of other
cells, but It contains usually large amount of stored glycogen and
unique oxygen bonding protein myoglobin, a red pigment thal
slores oxygen.
Question B4 Correct d
Number Option |
Explanation ;
Plants can utllize both nilrates and ammonlum. Although plants
cen utllize ammonium direcily, but nitrate Is the form In which most
nitrogen moves from the soll into the roots.
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Question 55 Correct

Number Option ¢
- - 7 - 7AA-_‘—-\\ —
Explanation ~_
According to law of segregation, the two Coexisling g

tralt segregate at melosis, 8o that each gametg allelgg Tor

ec B2
of the two alleles. Alleles unite again at random ran?lrvea Only gng
I

gametes when zygote is formed. 2ation g

Question 56 Correct
Number Option

Question 57 Correct c
Number Optlon
Explanation

Gene pharming Is the method for the production of
pharmaceuticals from farm animals. Farm animals are used
because the desired proteins appear In their milk.

Question 58 Correct b
Number Optlon
Explanation

Agarose gel |8 used during gel electrophoresis. The restriction
fragments can be separated according to thelr langth (molecular
welght or size) when It run on the agaroae gel,

' Question 69 Correct d
Number Option
- Explanation

The enzymes that are involved In the synthesis of protains 8¢
Integral part of rilbosomes.

Question 80 Correct a
Number Optlon
Explanation

gnton

nd
In bryophytes, the sporophyte Is completely depe g sopande’t

gametophyte. However, In the others, sporophyte 18
on gametophyte.



Correct d
Optlon

o
;xnl‘u'ﬂ i o bile 18 due to blle plgments which are formed

lobin.
me gree;raakdown of hemoglo
o 1" ) -
o 62 Correct c
auestlon S
Number P -
o bond in oleic 8614 18 present between Cg and C1qas
dou e
T::wn inthe diagram below.
s
/mgeresulrforaleicacid I
P
— . 63 Correct .
Questio Corer
Number
glplangjlgn
Jelyfish belongs 1© cnidarians; hence it has diffused nervous
system. l
e |
-
- (
Question 64 Co,-.rec‘ X |
Number ot |
Explanation

Rodents are digitigrades i.e, they walk on their digits only.

Question 65 Correct b |
Number Option l
Explanation

Foraminifera move with the help of their pseudopods.

Question 66

Correct b
Number

Option
I
Explanation
Cell

wall, ¢ . . .
Howeve, el membrane and plasmid are found in all bacteria.
f, " . .
apsule derived from host is not present in all bacteria.
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Quastion 87 Corract a
Number Optlon
Exnlanatlon

The corract order of vartebrate avolution is Fish, amphibians,
reptiles, birds, mammals,. Fish were the earllast vertabratas from
which all the others evolved

Question 68 Corract c
Number Option
Explanation

In cockroach; the blood flows from heart to aorta, to haemocoel,
perivisceral sinus, to perineural sinus, to periviscaral sinus. to
pericardial sinus, and to heart through ostia.

Question 69 Correct d
Number Option
Explanation

| Lamarck's theory is not accepted because acquired characters
cannot be inherited. In the modern concept of heredity, the
modifications an organism acquires during its lifetime cannot be
passed along to its offspring.

' Question 70 Correct b
Number Option
Explanation

Luteinizing hormone (LH), secreted by pituitary gland as a rest
| decrease in FSH and increase of estrogen, induces ovulaton -
' release of ovum from the follicle.

Question 71 Correct o]
Number Option
Explanation

When a reducing atmosphere changes o an oxidizing one,
organisms can no longer anse by abiotic means because nov
have oxygen in the air that can be used lo produce energy

Question 72 Correct a
Number Option
Explanation

The composition of honey dew revealed thal it conlains aboul

nitrogenous compounds




Question 73 Correct a
Number Option |
Explanation j

Ectoderm form neural tube which further forms brain and spinal

Question 74 Correct c
Number Option
Explanation

Succulent plants such as cactus have water stored in large
parenchyma tissues, thus they can withstand prolonged periods of

water shortage.

Question 75 Correct a
Number Option
Explanation |

At the elbow joint, biceps and triceps work against each other in |
the form of an antagonistic pair. In order to bend the arm, biceps |
contract and triceps relax and v9ce versa in the case of

straightening the arm.

Question 76 Correct d
Number Opﬁon
Explan

J

|

|

\

!
Glycine soon after its formation diffuses into the mitochondria J'
where two glycine molecules are converted into serine and carbon ’
|

"

dioxide molecule is formed.

Question 77 Correct c
Number Option
Explanation

All or none principle states that all of its myofibrils take part in
contraction. The degree of contraction depends upon the number

of fibrils that participate in contraction.

Question 78 Correct d i
Number Option '
I

Explanation
Progesterone inhibits further FSH secretion from the pituitary, thus ]

preventing any more follicles from ripening. Hence, it suppresses
ovulation so is a part of birth control pill. J
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| Question 79 7
| Number C°'_’°°t
Option
|
Explanation

In the phylum hepaticopsida, the Sporoph

dependent on the gametophyte Qenerahom 9enery

— —
| Question 80 Comect
Number Option
j Explanation
| -
_ S —
|
Question 81 Correct
1 Number Option
1 Explanation

‘: Grey crescent is a pigmented structure and its Cytopla

’ information essential for development. It cannot be pig

Question 82 Correct
Number Option

Explanation

‘ Phytoplankton (Greek “drifting plants”) include photos,
Protista, bacteria and algae. Small plants are not clas:
" phytoplankton.

Question 83 Correct [
| Number Option
’ Explanation
| On an average, about 50 thylakoids pile up to form a g
-
!
Question 84 Correct
Number Option
Explanation

be N
According to the Lock and Key model, there 2" dunn:

modification or flexibility in the active site before.

reaction.
[ I _Mﬁ_’/l (
Question 85 CorreC
Number Option
-
= aly 30
that lasts © hﬂﬁ

Mitotic phase Is the shortest phase
phase Is of 9 hours, S phase 10 hou

hours. >

rs anr‘ she




/ - 86 Correct b ‘ \ Question 92 Correct b
Option
ouai""" o l Number Option
per Y l D — =
Nurm
| Explapation
W\ﬂﬂ modified shoot which consists of a pedicel, thalamus or . Antiseptics are tha chemical substances that inhibit growth of
pflowe - | leaves (sepals. petals, stamens and carpels). 1 microorganisms on living lissues.
. and ||oﬂ3s gre the leaves in pteropsida.

Wf,“o“d —— B - B e B
Howe - T — ; T -
— .

—— - Correct a ' Question 93 Correct b
question Option “ Number Oplion
umber

[gxm
s’ |

orbs most of the salts and water. Thus, nitrogenous \ Population genetics deals with the quantitative characters within
m "’ab:uemd as solid excreta, in the form of uric acid | population.
e
wastes 8 “th feces.
long wies® . ¢« [ -— - - —
crystals 8 ) - o
L — Question 94 Correct c
— ) Numb i
88 Correct b mber Option
Q:T‘:xn Option
; Explanation
‘ " Iflarge quantity of gene is required, the recombinant DNA
with the addition of an H20 molecule, malate is formed from technology is used popularly known as genetic engineering.
fumarate. -_—
_ ;7 Question 95 Correct c
et 89 Correct a Number Option
Number Option
\ Explanation
Explanation '

Central dogma of gene expression means synthesis of proteins
that involves transcription and translation. The genetic information
flows down into RNA which is then converted into protein.

! Old xyierri is no longer used for water transport, so some waste
‘ chemicals are deposited in it, this gives this xylem a black color.

Question 90 Correct a Question 96 Correct b
Number Option Number Option
Explanation Explanation
|
The results of DNA fin,

gerprinting are obtained using X-rays that

&pear as black bands in autoradiograph.

Trypnosoma is a human parasite that belongs to zooflagellates
causes African sleeping sickness. It is transmitted by the bite of

tsetse fly.
— L
Question N — —
91 N
Number gorrecl ¢ ‘ Question 97 Correct a
ption i Number Option
The legu Explanation
me pla . X . .
oo 'mmingpmr:ts are host to Symbiont bacteria, which inhabit the Some delergents contain a lot of phosphate that is not removed by
Nirogen i .. - Caules. The bacteria in root nodules fix
Danig g, 21 1O alr, coy
u
-In
Polecyn relurn, the plants provide bacteria with food and

of phosphate encourages the growth of microscopic plants called

|
: . ‘ sewage lrealment and is discharged into rivers. The large amount
nverting it into amino acid, which the ; 9
l eutrophicalion that affects the force of aqualic reservoir.
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| Question 08 Correct

| Number Optlon

. -
Explanation l

The product of the actlon of succinic dehydrogenase on succinic

acid Is Fumaric acid.

Question a9 Correct d ‘
Number Option |
-

In cancer both radiotherapy and chemotherapy are used. In ,

radiotherapy, short wave radiations are used while in 3
chemotherapy, certain anticancer chemicals are given to the
patients. However, gene therapy is used to repair defective genes.

S—

Question 100 Correct b

Number Option i

Explanation |
|

Inert nitrogen pool only contains inert nitrogen molecules in the
form of Na.

224



of ascospores produced by

onse 0gans of nematodes are
se

cilia

papillae
Tentacles

all of the above

[S )

o oo

viich of the following factors is
F;Spgnsvble for bleeding in plants?
Hydrostatic pressure
Root pressure
Cohesion-tension forces

Both Aand B

Ao o P

¢ The distribution of organisms in space
can be studied through

Biome

Community

Zoogeography

Social biology

Ao oW

® Oraland vaginal thrush are caused by
which of the following fungi?

Candida albicans
Aspergillus fumigatus

Saccharomyces cervisiae
Omphalotus olearius

a
b.

o

d.

During gene Sequencing
a,

: DNA strands are cut into pieces.

Only chain terminated nucleotides are
Marked with fluorescent dye.

ONA strangs of different sizes are
Synthesizeq.

Allof the above

Which
of th N
Meiosisy ¢ f0”0""‘”9 IS not true about

d.

& Mtak

es ioloi
b N Place in diploid cells,
c.
d

Omgsg;, ;
Omal material is not doubled.

It i
is reducuon division.,

O
ms Spores in planls
Llfespan ’
of "
, RBC's ig

-
b Odays

110 days €. 120 days

d. 130 days

O
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10.

11.

12.

13.

14.

15.

16.

§0L0GY PRACTICE SOLVED PAPER 3

Muscle fatigue causes

Accumulation of lactic acid
lonic imbalance

pH drop

All of the above

ao ow

The indehicent fruit in which fruit wall 1s
complete and fused with seed coat is
Pod

Legume

Caryopsis

Both A and B

a o oW

When an oxygen pressure is 115mm

mercury, hemoglobin contains ml
of oxygen per 100ml of blood.

a. 19

b. 20

c. 19.6

d. 98

is related to human
genome project.
To construct a genetic map
To construct a base sequence map
To do gene sequencing
Both A and B

a0 ow

Lateral meristem is not present in

Monocot plants
Dicot plants
Gymnosperms

oo ow

None of the above

The driving force behind every natural
cycleis

a. Sun

b. Ar

c. Plants
d. Animals

Rhodophyta have how many flagella?

a 1 c. 3
b. 2 d. None

Silicon carbide needles are used in
method(s) to produce
transgenic animals.
a.  Micro injecton of foreign genes
b. Vortex mixing
c. Agitation method
d.  Allof the above



17. Permellia is an example of

18.

18.

20.

21.

22.

23.

stage.

a. Moss
b. Foliage lichen
c. Crustose lichen
d

.

Herbaceous

In case of X-linked recessive trait, if a
carier mother marries a normal
individual, the ratio of infected to carrier

to normal offspring will be
1:1:1
1:2:2
2:1:1
1:1:2

& o oo

Primitive gut is the cavity between

a. Ectoderm and mesoderm
b. Yolk and ectoderm
c. Yok and endoderm
d. Endoderm and mesoderm

Plants are most diverse in littoral zone of

lake and animals are most diverse in
zone.

Littoral

Limnetic

Profundal

Soil bed

a0 oW

Glycogen is stored in

a. Liver

b. Kidney

c. Pancreas
d. Intestine

The maximum temperature fungi can
tolerate is

a. -5 degrees Celsius

b. -10 degrees Celsius

c. 5degrees Celsius

d. 0 degrees Celsius

The vegetative cells which accumulate
food and become resting spores are

called
a. Hormogonia
b. Helerocysts
c. Akinetes
d. Trichomes
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24,

25,

26.

27.

28.

29.

30.

31.

g

Bacteriophages were discovereq )
a. Twort by
b. Pateur
c. D'Herelle
d Botha&c

Morphogenetic determi

nants
in the cytoplasm of are pragep,

Epiblast cells
Hypoblast cells
Hensen's node
Blastomeres

a o oo

Mouse eared cress has been engineereq
To degrade plastic

To produce biodegradable plastic

To produce Aluminum

To produce PVC

a o oo

Bilirubin is the end product of
a. Creatine
b. Albumin
c. Citrulline
d. Hemoglobin

Which of the following fungi is not
edible?

a. Morels

b. Truffles

c. Mushrooms ) R
d. Toadstools

In lithotripsy, which type of waves are
used?

a. X-rays

b. Ultrasound
c. Infrared

d. BothAandB

During cloning, the nucleus of egg cells
is destroyed by radiations.
X-rays

Ultraviolet

Infrared radiations

Gamma radiations

e o oo

Transgenic plants are made by using
on protoplast.

Electric shock

UV rays

Infrared rays

X-rays

a o oo



read of hyphae

mitochondria
throughout hyphae
9 a .
b. o-'iu |eate nature of fungi
mul? o of cell wall

number i
smic flow

nergy represents energy

qofe
mid of ty level in

W A pyré rin communi
unit.

) n—ansfe

K”ocalories
Kilocaloriesl me
Kilocalories/ year

d‘ Kilocaloriesl meter square/ year

ter square

which of the following is ribo-nucieo
* protein particle?
Nucleosome
rRNA
Ribosome
none of the above
none of the above

®© an o ®

3. Some species of Aspergillus are used for
producing
a. Soya sauce
b. Citric acid
¢. Soya paste
d. Al of the above

31. The pigments that absorb yellow to
orange light are

Bacteriochlorophylls

Xanthophylls

Chlorophyll

Carotenoids

a o o

% Which .
of the followin
testOSterone? g produces

a Seminiferoys tubules

Sertoli cells
Interstitial coyig

b,
C.
d Prostate gland
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39.

40.

41,

42,

43.

45,

46.

e

The hydrogen produced by splitting of
water is used to

8. Krebs cycle

b. Respiration

€. Phosphorylation

d.  Produce glucose

Grasslands present in temperate
climates are called

a. Savanna

b. Prairies
c. Taiga
d. Boreal

If the division of bacteria is in one plane,
it will produce

a. Staphylococci

b. Diplococci

c. Streptococci

d. BothAandC

Single circuit heart is present in
a. Fish

b. Amphibians
c. Birds
d. Reptiles

Which of the following factors is
responsible for bleeding in plants?
a. Root pressure
b. Hydrostatic pressure
c. Cohesion-tension forces
d. BothAandB

The attachment of the two subunits of
ribosomes is controlled by

a. Hydrogen bonding

b. lonic bonding

c. Mg2+ions

d. Fe2+ions

Which of the following is an example of
divergent evolution?

a. Limbs of man and horse

b. Wings of bat and birds

c. Fins of shark and seahorse

d. All of the above

Similarity in characteristics resulting from
common ancestors is known as

a. Cognatology

b. Correspondology
c. Homology

d. Heterology



~

4a

48.

52.

53.

The most abundant protein on the earth
is

Ribulose bisphosphate

Ribulose bisphosphate carboxylase
Ribulose phosphate

All of the above

a o o m

Which of the following is not a congenital
disorder?

s Hemophilia

b. Down's syndrome

¢ Turner's syndrome

d. Cretinism

Which of the following is true about DNA
polymerase 11?7
a ltis a monomer acting on both strands of
DNA
b Itis a monomer acting on one strand of
DNA.

c. ltis a dimer acting on both strands of DNA.

It is a dimer acting on one strand of DNA.

Plant biomass is equal to

Gross primary production
Net primary production
Gross food production
Net food production

a o ow

Studies have revealed that the
nitrogenous compounds present in
honey dew are

%
10-25%
50%
80%

O o o w

Fats have a specific gravity of

a 069
b 05
c 08
da 11

plays role in the selection of

genes.
a  Nucleus
b Cyloplasm
¢ Mitochondnal matrix
d BothAandB
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55.

56.

57.

58.

58.

60.

61.

g

Which of the following has streamling
body? :

Reptiles

Fish

Birds

BothBandC

a0 oo

Which of the following is correct aboyt
foot bones?

8 tarsals, 5 metatarsals, 14 phalanges
8 tarsals, 5 metatarsals, 15 phalanges
7 tarsals, § metatarsals, 14 phalanges
7 tarsals, 5 metatarsals, 15 phalanges

a o oo

Factor that affects the type of life in an
aquatic ecosystem is

a. Energy

b.  Nutrients

c. Amount of water
d. BothAandB

The resolving power of human eye is

a. 1.0mm
b. 20mm
c. 20um
d. 1.0um

SRY gene is present at

The tip of short arm of Y chromosome
The mid of short arm of Y chromosome
The tip of long arm of Y chrémosome
The mid of long arm of Y chromosome

a0 oo

Which of the following resembles the
collar cells in sponges?
Choanoflagellates

Ciliates

Dinoflagellates

Apicomplexans

a0 oW

Hyphomicrobium is an example of

a. Cocci

b. Bacilli

c. Trichome forming
d. Spinlla

Internal fertilization occurs in

Oviparous
Viviparous
Ovoviviparous
All of these

Qoo w
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65

66.

67.

68,

tric chromosomes

a6 mostly protandrous, which
es

pong
mean®
Male

none of th
Female S€
Both sexes

gex develops first

g above

x develops first

develop simultaneously

a o 9w

scology refers to the relationship
syn

be{ween

single population and environment
Many populations and environment
specie and environment

None of the above

a o 9w

The incidence of type of
kidney stones is the most common.
a Uric acid
b, Calcium sulphate
¢. Calcium phosphate
d. Calcium oxalate

All of the following statements are true
about independent assortment except
a. Alleles assort independently into gametes.
b. Independent assortment of alleles depends
on independent assortment of their
chromosomes.
¢ Genes of homologous chromosomes assort
independently.
Ratio of each joint phenotypic combination
can be obtained by product rule.

For each trait, there is
Number of elementen.

a o owm
SN =

The term A

word for Nnelida comes from the Latin

Little ring
Segmented body
Pointeq ends

a
b.
c
a FlaMOrms

o
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69,

70.

71.

72,

73.

74.

75.

" 76.

Coenzymes are made up of
a. Polypeptides
b.  Proteins
c.  Vitamins
d.  Carbohydrates

Marine algae are a source of many
useful products. These include all of the
following except

Algin

Agar

Pectin

Carrageenan

a o oW

In humans, baroreceptors (blood
pressure receptors) are present in
a. Left ventricle
b. Caroted artery
c. Hypothalamus
d. Branchial vessels

Dandruff in hair is caused by

Bacteria
Lice
Virus
Fungi

aooow

In fetus, RBCs are synthesized in
Liver

Bone marrow of sternum
Bone marrow of femur

Bone marrow of humerus

2o op

When abdomen of cockroach contracts,

a. The first four pairs of spiracles open

b.  The posterior six pairs of spiracles open
c. The anterior four pairs of spiracles close
d. Bothb&c

Termination of transfer RNA occurs at
site.

A site

P site

E site

None of the above

oo oo

Which of the following sexual spores are
formed not inside of their respective
reproductive structures?

a. Zygospores

b. Ascospores

c. Basidiospore

d  Allof the above



77. Most of the H,0 is used in

Industry
Irmigation
Household
Drinking

apop

78. Overdominance is characterized by
One allele is dominant, other is recessive
b. Homozygotes exceed in expression as
compared to heterozygotes
Heterozygotes exceed in expres
compared to homozygotes

d. Rh blood group type is its example

sion as

79. In animals living in desert,
nephrons are more important.

a. Cortical

b. Juxtamedullary
c. Medullary

d. Hilar

80. The bite of rabid dogs, cats and other
animals causes which of the following

diseases in humans?
a. Hydrophobia
b. Anthrax
c. Fowl cholera
d. Tuberculosis

81. Which of the following type of asexual
reproduction does not occur in plants?

a. Budding
b. Grafting
c. Fission

d. Layering

82. In isobilateral leaves, the stomata are
present in
a. Only upper epidermis
b. Only lower epidermis
¢. Both in upper and lower epidermis
d. None of the epidermis

83. Interphase of meiosis lacks

a. G1

b. S

c. G2

d. None of the above
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85.

86.

87.

88.

89.

90.

The phylum of animals in whj

no body cavity is/are hich there |
Aschelminthes

Chordates

Platyhelminthes

Annelids

Qo oo

In semi-conservative icati
the following is true r;;gmm.ewmcﬁ
separation of two strands?
a. Primary structure is conserved, an,
secondary structure is disrupteq.
b. Secondary structure is conserveq |
primary structure is disrupted. '
c. Both the primary and secondary st
are conserved.
d. Both the primary and secondary s
are disrupted.

Physalia (Portuguese man of war) has

up to different types of zooids.
a. Three
b. Six
c. Four
d. Five

Physarum is a
a. Plant-like protist
b. Animal-like protist
c. Fungi-like protist
d. none of the above

How many types of amino acids are
presentin cells?

a. 180
b. 20
c. 170
d 25

s firs

Which of the following organelle wa
isolated from liver cells?
Lysosomes

Peroxisomes

Glyoxysomes

Ribosomes

oo oo

The closed circle chromosomeé of
Escherichia coli measures
18,000 um

16,000 um

14,000 um

12,000 um

a o oW
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Which of the

. hyphae of
stics of the
racteﬂs

cleate

tate and di nucleate
sep
ate and multi nucleate

N""'sept nonucleate

Non-sep“"e and mo

yces cerevisiae reproduces
m

Conidia
gporeS
Fmgmentahon

gudding
atalase works best at pH

6.80
9.00
9.70
7.60

following is not associated

with growth?

oo o w

permanent
Ireversible
Increase in size
None of the above

Blastomeres are formed in

o o oo

Morula
Blastula
Gastrula
Neurula

Oxyhemoglobin releases up oxygen at

a

b
c.
d

Tissue level
Organelie level
Organ level
Cellular level

Nematocysts are stinging cells present in

a

b.
¢
d

whlch of the
NZymes g

a

Planaria
Hydra
Cockroach
Amoeba

following statement about

alse?

T .

They accelerate the chemical reactions.
hey are sensitive to change in pH.

S
°M& enzymes need co-factors for proper
‘“"Clloning_

T
hey are all fibrous proteins.
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99. If enzyme concentration is kept constant
and amount of product is increasad, a
poin! is reached when a further increase
in the substrate doas not incraase the
rate of reaction. Thia is becausa

a. Activa sites ara blocked

b Substrate concantration ia invaraaly
proportional to anzyme action

¢. Active siles ara occupied, and anzyme
become saturated

d. Enzymes are denatured

100. hormone is not synthesized
in the anterior lobe of pituitary gland
a. MSH
b. TSH
c. ADH
d. None of the above




ANSWERS & EXPLANATIONS

Queslion 1. Corroct
Number Option
Explanation

Melosis follows nucloar fuslon insido the ascu

ASCOSPOTOS are producod Insid

o oach ascus.

Quostion 2. Corrocl
Number Oplion
Explanation

In nematodes, th
paplllae present on the lips al the anterior end.

|
|
|

15, commonly 8

e senso organs are in the form of sonsory \

Question 3. Correct d
Number Option
Explanation

There are two main factors responsible for bleeding, the
hydrostatic pressure in xylem and phloem, and \he root pressure

which is exerted by xylem cells.

Question 4, Correct
Number Option
Explanation

In a biome, we can study the kinds of animals, plants and other

organisms. Whereas, zoogeography involves the study of ‘

hereditary and distribution of only animals in nature.

Question 5. Correct a

Number Option

Explanation

Oral and vaginal thrush are caused by the fungus Candida |
albicans.

Question 6. Correct d |
Number Option

Explanation

During gene sequencing, DNA strands are cut into pieces, they

are marked with fluorescent dye and new strands of different sizes

| are synthesized.
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Quostion 7. Correcl
Numbor Option

T ‘”‘\
Explanatlon

Although Itis not doublod In molosis |1, byt the
matarial Is doublod bofore melosis | thay resul| Chrop,
four haploid daughter cells S In I

Question 8 Corrac|
Number Oplion
Explanation

Lifespan of RBC's is four months,
Quostion 9. Corract
Number Oplion
Explanation

Musgle fatigue results in accumulation of lactic acid a
imbalance also contribute to muscle fatigue. Lactic ac
muscle pH to drop.

Question 10. Correct
Number Option
Explanation

The family poaceae has an indehicent fruit in which fr.
(pericarp) is completed and fused with seed coal. Suc
termed as caryopsis.

Question 1. Correct (
Number Option
Explanation

When an oxygen pressure is 115mm mercury. hemogl:
saturated, and therefore contains 19.6ml of oxygen pe
blood.

Queslion 12. Correct s
Number Option
Explanation

The construction of a genetic map and a base sequent
both are the aims of human genome projact. Gene s8¢
not an aim of this project.



Correct a
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C linde

re Ccy! ot plants,
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L!“"s' gnd gym e
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/‘/4 Correct a
/ 14. . . Opﬂon

g s the mai" grivin

rs of dividing cells. They are present

g force behind every process that occurs in |

sun
np1Ure‘ — e
’//—'—_ — ———

////" 15 Correct d

question Option

Number

ﬂwnytﬂ or red algae do not have any flagella, hence do not

Rhodop

gxhibit Jocomotion.

[—
umsiin 16. Correct b
Nunber Option
Explanation

Siicon carbide needles make tiny holes in the eggs through which |

DNA can enter that is why they are used to produce transgenic
gnimals.

Question 17. Correct b
Number Option

_

Explanation

Permel
Mellia and Dermatocarpon are the common examples of
Plige lchen stage,

\\— —_—

— —_ ] >‘: -
Quegy; T
Ny Ston 18, Correct d

Mber
Option

Bl
LT
hav:l;r:alr Mother Marries a n
oy F|1n ectag Male, a caryj
. +the ratjg com

ormal individual, the offspring will

©s outto be 1: 1: 2,

T

]
|
er female and a normal male and a ]
|
bl
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| . Question 19 Correct b
L Number Option
Explanation

The cavity between yolk and endoderm is primitive gut or
gaslrocoel. It Is formed when the mesodermal cells migrate

medially and caudally from both sides and create a midline
thickening,

|
F
|
P
|
|
[

Question 20. Correct a
' Number Option
| —
| Ex

] In littoral zone, plant communities are most diverse including wate
lilies and entirely submerged vascular plants and algae. The

‘ greatest diversity of animals in the lake is also found in this zone.
Littoral invertebrates include crustaceans, insect larvae, snails,

| flatworms, hydra; vertebrates include frogs, aquatic snakes and
turtles.

Question 21. Correct a
- Number Option
Explanation

Liver is also a storehouse of various chemicals, these include iron
and glycogen.

—q -

Question 22. Correct a
Number Option

} Explanation

|

|

Fu_ngi can tolerate the temperature extremes of -5 degrees Celsius
below freezing to 50 degrees Celsius and above. That is why they
can grow on things kept in refrigerator.

—

| Question 23. Correct c
| Number Option

Akinetes are thick walled, enlarged vegetative cells which
accumulate food and become resting spores.

Explanation
|

| Question 24, Correct

|

| Number Option

| —0— _—
Explanation

Bacteriophages are viruses that infect bacterla. They were
Independently discovered by Twort In 1915 and D'Herslle in 1917

i
| s , B



]

Question 25. Correct d |
Number Option

|

Explanation '

ants that are responsible for cell

The morphogenetic determin
ot he different cytoplasmic components

differentiation are present in 1
of blastomeres.

— 1
Question 26 Correct b j
Number Option ‘
S
Explanation
enetically

A weed called mouse eared cress has been g
engineered to produce biodegradable plastic (polyhydroxy-

butyrate) in cell granules.
R
—
Question 27. Correct d
Number Option
Explanation ‘

Bilirubin is a metabolic waste, which is an end product of
hemoglobin breakdown and metabolites of various hormones.

f

Question 28. Correct d
Number Option
Explanation

Toadstools are poisonous mushrooms, such as death cap and
jack-O' lantern mushroom.

Question 29. Correct d
Number Option
Explanation

In lithotripsy, high concentrations of X-rays or ultrasound are
directed from a machine outside the body to break the stone inside

into tiny pieces that are passed out in urine.

Question 30. Correct b
Number Option
Explanation

The nucleus of the egg cell is destroyed by ultraviolet radiations
and a new nucleus from somatic cell is introduced into the egg cell

for cloning.
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|
| Question
| Number

|
Explanation
Electric shock makes self-sealing holes in plagsma memb,
through which genelic material can enter he call, thig heI"ane
making these plants transgenic. PS in

=

| Question 32 Correct b
Number Option
Explanation

The cytoplasmic flow throughout the hyphae is responsible for
their rapid growth and spread.

Question 33. Correct b
. Number Option
Explanation
A horse is a hoofed grazing animal and falls under the category
ungulates.
Question 34. Correct d
 Number Option
Explanation

An energy pyramid represents energy at each trophic level in the
form of kilocalories of sunlight per meter square per year.

Question 35. Correct c
Number Option
Explanation '

Eukaryotic ribosomes are composed of an almost equal amounts
of RNA and proteins; hence they are ribo-nucleo particles.

( Question 36 Correct d
Number Option
J Explanation

Aspergillus is used for producing soya sauce and soya paste from
soya bean. Citric acid is also obtained from Aspergillus.

e




Con‘Bd b

) L Option
fio" .
o - _
Nu'“ber -
.n‘(m.ﬂ ccesso"y photosynlhetic pigments thal absorb
/s
x’an‘“"’m nge hgh‘
(,m\‘\( I -
38 Correct c
ouesto” Option
mber S N -
i
s produced by interstitial cells present between
Taswswmnell This hormone is essential for the successful
ersttiel Oef sperms and the development of male secondary
yction ©

g;cnaractanstm during puberty.
sexv

—

) 39. Correct c
Owilof Option

Number

Explanation

The hydrogen produced by splitting of water reduces NADP to
NADPH2 during phosphorylation.

Question 40. Correct b
Number Option
Explanation "

Grasslands with non-woody plants are called prairies. Prairies are

present in tlemperale climates, such as Prairies of North America,
Pampas of Argentina. :

e —

Question
Number Correct d

Option

QPLQQLL
%:' have
di
lhe dlvlslonIT: r,m amrangements based on the plane of divisions.
n
locoeg, One plane, it gives rise to diplococci and

?Uesuon e — —
Mg a2 Correct a
— Option
—_ -
U\rhm

cun hea
€art g
_ Present in fish, because blood travels in one
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|
!
|

1
|

Question A3

Corract d

Number Option

Explanation

There are two main factors responsible for bleading, the hydros!a
pressure in xylem and phloem, and the root praasura which is ex<
by xylem cells

Question 44
Number

Correct c
Option

Explanation

The larger subunit of ribosome of 60S and smaller subunit of -

attach to form an B0S particle. This attachment is controlled b
presence of Mg2* ions.

Question 45, Correct a
Number Option
Explanation

Limbs of man and horse are functionally alike but structurally
different, hence they are examples of divergent evolution.
However, the others are examples of convergent evolution.

Question 46.

Correct c
Number Option
Explanation

The similarity in characteristics resulting from common ance
known as homology, and such anatomical signs of evolution
called homologous structures.

L

—— - — _
| Question 47 Correct b
\l Number Option

Explanation

Ribulose bisphosphate carboxylase (Rubisco) is the most
abundant protein on Earth.

Question 48 Correct a
Number Oplion
Explanation

Cretinism is a metabolic or hormonal disorder Howavar, han

down's syndrome and lmer's syndroma are all congsnital ¢



—_—

|
Question 50. Correct b
Number Option
—————
Explanation

|

Question 49. Comect d

Number Option

Explanation |
DNA polymerase |Il is & dimer that acts on one strand of DNA.
Whereas DNA polymerase | Is 8 small enzyme that plays 8

supporting role in DNA replication.

y left after plants have met their respiratory

The amount of energ
lant

needs is nel primary production, which shows up as p
biomass.

Question 51. Correct a ;
Number Option ;

1
Explanation i

The composition of honey dew revealed that it contains about 1% |

of nitrogenous compounds.

Question 52 Correct c
Number Option

|
Explanation

Fats and oils are lighter than water and have a specific gravity of |
0.8. Hence, they float over the surface of water. ‘

Question 53. Correct b
Number Option |
Explanation ;

Cytoplasm plays the role of selectin of genes as it contains
different morphogenetic components. [
|

e

— S -

| Question 54. Cormrect d ’
| Number Option |
|

Explanation |

Fish and birds have streamline body to cut through water and air |
|

respectively. Such type of body shape gives greal speed to fish
and birds while swimming and flying.
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Question 55. Corract
Number Option c
Explanation T

Each foot contains 26 bones. These include 7 (argy)
metatarsals form the framewaork of palm of faot ang ? 5
are attached lo the metatarsals. 4 phal

Question 56. Correct d
Number Option
Explanation

The main factors that determine the quantity and type of lif
aqualic ecosystem are energy and nutrlents.

Question 57. Correct a
Number Option
Explanation

The human eye can differentiate between two points which a
least 1.0 mm apart. This is called the resolving power of hum

eye.
Question 58. Carrect a
Number Option

Explanation

SRY, the maleness determining gene is present at the tip of s'

arm of Y chromosome.

Question 59. Corract a
Number Option
Explanation

Choanoflagellates have striking resemblance to collar cells in

sponges.

Question 60. Correct d
Number Option
Explanation

Hyphomicrobium Is an example of spiral shaped bacteria



Herres(rlal animals, and Internal fertilization |
es 0

2 0 not occur In aquatic
(nes® &~ al animals. It does
MO terrest’
Jrs
{
D:iirof‘ o - —
b
62 Correct |
Quasn"n Option .
megr S — |
,// 1
a |
2] [ centromere is near the tip of chromosome which forms | ‘
ion ©
gealio” gphase. ‘

L .
ape 90118 e

63 Correct a ‘
questio” Option |
Number ’

planation |
EX onges are mostly protandrous, i.e. male sex cells develop {
The P ;
frst. f
- ]
Question 64. Correct b .‘
Number Option |
I
Explanation

The study of the relationship of different communities (grouping of ‘
populations) to their environment is called synecology or
community ecology.

]

Question 65. Correct d |

Number Option l

|

|

Explanation “

a{almum oxalate type stones are 70% of total kidney stones. i

hereas, the incidence of stones of calcium phosphate and of uric |

éid s 15% and 10% respectively. {

|

- 0000
Question T

Numbr 66. Correct c
Option
o :

Enes of h
omol .
becayge the ©90us chromosomes cannot assort independently L
Y are present on same chromosome.
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Question 87 Correct b
Number Option
Explanation

Each Iralt has a pair of these particulate heraditary factors, one
from male and the other from female parent

Question 68 Corract a
| Number Option
| I
Explanation
| Annelids are derived from the Latin word for “little ring”
|
|
e I
r R
| Question 69, Correct c
' Number Option
| e o
] Explanation

Question 70.

Correct c
Number Option
Explanation

Agar, algin and carrageenan are the products of marine algae, but
pectin is not.

Question 71. Correct b
Number Option
Explanation

Baroreceptors are present in caroled and aortic arteries of

tetrapods. They play important roles in the regulation of blood
pressure.

Question 72. Correct d
Number Option
Explanation

Fungi causes dandruff in hair. It is an example of parasitism wher
the fungi behave as parasite and human hair act as host.



. . a
Question 73. Corec

Numb Option

Explanation

nthesized in liver and spleen,

In fetus, red blood cells are sy thesized in bone )

however in children and adults, they are syn

marmow.
e |
Question 74. Correct 1’
Number Option

|
Explanation '

When the abdomen contracts, the anterior four pairs of spiracles
close and the posterior six pairs open. This forces air through the ;
tubes and eventually out of the body. )

- V!

Questiori 75. Correct b
Number Option
Explanation

Termination of transfer RNA occurs at the P site and it is ejected
from E site.

S — >‘\_\;

‘ Question 79 Correct b\\
Number Option
Explanation

Juxtamedullary nephrons produce concenlrateq urin
they are Important for animals living in desert, so {h
) wasled via excrelion in such a dry environmen(.

e. Tha‘ is wh
al walgy I8 ng

1

| Question 80.
i Number

— - —_—

| - T —

Explanation
The bite of rabid dog, cat and other animals causes rabies, The
other name for rabies is hydrophobia.

F)ueslien 81. Correct c
Number Option
Explanation

Budding, grafting and layering are the types of asexual
reproduction in plants. However, binary fission is seen only in
unicellular organisms.

— — -

Question 76. Correct c
Number Option
Explanation

The haploid sexual spores, basidiospores are born on, not inside,
each basidium.

—
|
Question 77. Correct b

i Number Option

[ Explanation

|

|

|

-

Y

|

|
\
{
|

|

homozygotes.

Most of the water is used for irrigational purposes. About 90% of
water is used in imigation. The rest 10% is used in domestic as
well as industrial purposes.

Question 78. Correct c
Number Option
Explanation

Overdominance is characterized by the heterozygotes that exceed
In quantity the phenotypic expression as compared {o
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Question 82. Correct c
Number Option

|
Explanation

In isobilateral leaves, the stomata are present in both upper and
lower epidermis e.g. lily and maize leaf.

|

’ Question 83. Correct c

‘ Number Option

[

Explanation

" The interphase of meiosis lacks G phase.

o
Question 84. Correct c
Number Option

, Explanation

In phylum Platyhelminthes, there is no body cavity or coelom,
hence are called acoelomates. Aschelminthes are
pseudocoelomates and Annelids and Chordates are coelomates.

. - B ) I
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/ 85. Correct a Question 91 Carract c
) Option | I Number Option
auesﬂo o !
r — \
T ‘
4 | Explanation
p[lll‘ugn ive replication, the original molecule is unzipped, I The hyphae of Zygomycota are non aaptate and mulli nucleata
l<0 serva duplex becomes & part of another duplex |
m-‘: rand of mB"on of two strands of DNA, the primary structure ‘
A0 epar®

cture is disrupted. \
o! he secondary stru
p.;nr;qew od white ! \ Question 97 Corract q
s 00 I e i Number Option
Correct d ‘ o
86. 1 Explana
o“g;ﬂon Option *Rlanation
Nunbe’ — | Saccharomyces cerevisiae is a yeast and yeasls reproduce
o
— | asexually by budding
ation .
pxplen portuguese man of war) has up to five different types of - — — -
nysali@ ( ming different functions for the colony. ‘
Looids, perfor Question 93 Correct d
 —— ‘ | Number Option
/ 87 Correct c | [ oo T -
Qquestion Option | gp—lﬁﬂiﬂgﬂ
Number ‘I The enzyme catalase has an optimum pH of 7 60. Hence, it works
best al this pH.
Eﬂlﬂmﬂ |
i i i-like protist. ! — — . S
m, a slime mold is a fungi-li
Physan I E— —
| Question 94. Correct d
] Number Option
Question 88. Correct c \
Number Option 1 Explanation
\) Growth is permanent and irreversible increase In size that occurs
Explanation ‘ as an organism matures.
About 170 types of amino -acids have been found to occur in cells.
Of these, about 25 are constituents of proteins. Most of the - -
proteins are however made of 20 types of amino acids. I o
Question 95. Correct a
1 Number Option
! .
Question 89. Correct b
Xxplanation
Number Option =
Cleavage results in the formation of a rounded closely packed
mass of blastomeres, this is morula. It consists of a disc shaped
Explanation

mass of cells two or more layers in thickness lying close to yolk
De Duve and coworkers first isolated peroxisomes from liver cells l |
in 1965, §

- ] Question 96 Correct a
‘ | Number Option
Question 0. Corect c ‘
N
s Option | Ex i
Emﬂllﬂsm | Oxyhemoglobin releases up oxygen at tissue level.
The gio, —
'app,o x]sed circle chromosome of Escherichia coli measures ) -
Mately 14,000 nm. -
- ' Question 97 Correct b
T -_— OO J | Number Oplion
Explanation

In the digestive system of hydra, embedded in the lentacles are
numerous stinging cells called nematocysts
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Question 00, Corract
Number Option -
Explanation

ns that have

jonal globular protel

{o their component amino aclds

Enzymes are three dimens
speclfic chemical composition due

and a spoclfic shape.

Question 89 Correct c
Number Option |
Explanation

If the enzyme concentration Is kept constant, a time Is reached

when further Increase In substrate concentration does not increase
the rate of reaction because all the active sites of enzymes are |
occupled. Enzymes become saturated.

Question 100. Correct c
Number Option
| Exrlanation |

Oxytocin and ADH are synthesized by posterior lobe of pituitary
gland while MSH and TSH are synthesized by the anterior lobe of |
|
|
|

pituitary gland.

-
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